Problem 7.69

Find the Thevenin equivalent for the network shown at the terminals A-B.


[image: image1.wmf]-j1

W

1

W

j1

W

4

Ð

0°A

2V

x

V

x

+

_

 A

     B


Suggested Solution


[image: image2.wmf]-j1

W

1

W

j1

W

4

Ð

0°A

2V

x

V

x

+

_

 A

     B

I

2

I

1



[image: image3.wmf](

)

(

)

(

)

(

)

(

)

(

)

12

1

404

28

484848

88

848444

212440

42.4.8

44

12

2.4.8

OC

X

X

OC

SC

SCXSCXSC

XSCSC

TH

ForV

Vjj

Vj

IjIjj

Vjj

Vjjj

ForI

jIVIVjI

VjIYIELDSIj

j

Zj

j

=°-=-

=-

=+=+-=

=-=-

=-++-=-+

+++---=

=--=+

-+

==-+

+



 EMBED SmartDraw.2  [image: image4.wmf]- +

Z

2j-1

4j-4


_1050589362.bin

_1050589385.unknown

_1050589515.bin

_1050587503.bin

